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2017
Time : As in Programme
Eull Marks : 70
The figures in the right-hand margin indicate marks.

Answer from all the Seclions as directed.
Section —A

answer any three questions within word limit of
700-1000 each: 12x3 =136

1. Explain the type of data that can be included in
AlS depending on the nature of the business.

2 Explainthe six components that are essential to
create the typical AlS.

3. Discussthe significant features and designingd of
double entry system with the help of examples.

4. Explain computer process for accounting.

5 Whatare various types of files 7 Explain each of
them.

QF —41/4 (Turmn over)



Section —

Answer any three questions within ward limit

of 500 each : B8x3 =24
6. Explain the principles of form design.
7. Explain why the coding sysytem is used for
transaction processing.
8. Explain howAlS and MIS are inter-related ? How
MIS helps management ?
9. Explain, in detail, organisation of data.
10. Explain computer process for accounting.
Section-C
Answer any two questions within word limit
of 300 each : ax2=10
11. Write a short note on working of a com puter.
12. What are different features of computer.
13. Differentiate between data and information.
14. What are the limitation of TPS ?
H
QF —41/4 (100) (2) DDCE-IIS-CBCS —

M. Com (Gr. A- Acct.
Inf. Syt)R&B



DDCE-IIS-CBCS —
M. Com (Gr. A— Adv.
. Acct)RE&B

2017
Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.
Answer from all the Sections as directed.
Section —A

Answer any three Wmﬂnnmm of
700-1000 each: 12%3 =136

9, Frepmamoﬁdatﬂd Balance Sheet from the
Balance Sheets of H Ltd.And SLtd.:

Liabilities  |HLtd.|S Ltd.| Assets ]Hu.'u.’sud.

rs.| Rs. RS.| RS.
Share Capital Sundry Assets | 8,000 | 1,200
Equity Shares Stock 6.100 | 2,400 -
of Rs. 10.@ach [10,000 | 2,000 Deblors 1,300 | 1,700
Brofit & Loss Alc| 4,000{ 1200 aills Receivable| 100 | -

QF —45/5 e (Tum over)
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DDCE-llisCBCS —
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& Promtn. Mgt R & B

2. "Message designing is very important, as it gives
emphasis on Positioning and Marketing

M-mmﬁm
QF - 3614 ({ Tumn over)
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DDCE-IIS-CBCS —
M. Com (BP & SM)
R&B

2017
Time : As in Programme
Full Marks . 70
The figures in the right-hand margin indicate marks.

Answer from all the Sections as direcled.
Section-A

Answer any three questions within word limit of
700-1000 each : 12x3 = 36

1. Account for the evolution of business policy and
strategic management as a field of study through
different stages.

2. There can not be a single objective for an
organisation. Objectives are in fact multiple
and sometimes contradicting in nature,
Elucidate.

QF —48/4 ( Tum over )



g%y
(NS 7 d8) woD ‘N
—sgogo-si-30aa  (g)

#*

4 |0nuos wnjuawow difajens s JBUpM

£ 104
pajdo aoloyo oibajens B Se UoRenualalip S1 UBUM,

¢ SsaUjeam
pue yibuans Buibpnl 1o) eusjuo ay) ale JeUMN

‘wawwabeuew o16ajens jo |apow e jno Buug

0l = Zx5 1 Yyoea Qog Jo
Py plom uiynm suonsanb omy Aue Jamsuy

= uoljdeyg

4 8uop Ji sl maH ¢, AGajens jo
uonejuawduwn [einpaocoud Ag ueswl NoA op Jeup,

‘sajduexs 2|QENINS UM UoleluswWadu pue
uogenuucy ABaje.s usamiaq aBexul ap sjessnj|]

(00L) tr6¥ — 4D

rl

‘tl

zl

g

ol

PO (z) vi6r — 40

‘suoisioep oibajels

Buiyeww Jo} pesod swa|qosd s pue JusLUCIALS
|leuonEWNW jo Sainjea) 8yl sjesawnul
Abajels

Buidojanep uj jsiBajens e Joj jualuuonaua [eanjod
pue onuouosa jo suonesdw) ayy Apduwex3
Juewabeuew

oifajesis Jo suoIsSUBWIP Juslayip aleioge|]

2 =Ex8 Tyodea pos jo
JWi| plosm uiyIm suonysanb aadyy Aue Jemsuy

g — uonoseg

¢ sanbiuyos] Jussayip sj 8Ie JeYA 4 (04U0D
pue uonjenjeas ABajelis Joj paau e alay) st Ay

¢, UD[EIapisuod
OjUl UXE} SI0jOE) BJE JEYAN ‘UonhejuswWwa|dw
ABajens jo ssaooid ay) ui sdajs ay) ajelawinul

& pauynuapul saunuoddo
ale moH ¢ a2e|d jJaylew ayj je uoljsod
s|qepojwos & Buifolus uopesiuebio oA se
Buo| se sisAjeue | OAS & Joj ob noA pinoys Aypp



DDCE-IlIS-CBCS —
M. Com (Gr. A - Bus.
Tax)y REB

2017

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicale marks.
Msmrﬂuﬂdﬂmmasm

Section - A

Answer any three questions within word limit of
700-1000 each : 12x3 = 36

1. R &M are partners in a firm Covered under Sec.
184). They share profitand ioss in the ratio of 3 -
2. The P/L Afc of the firm for the year ending
31. 03. 16 is give below : :

_ Rs. Rs.
To opening stock 80,000 By sales 25,25,000
‘To purchases  12,24,000 By closing stock  1.80,000

QF —48/5 ( Tum over)
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DDCE-ls-cBCcs
M. Com (Cost, &
Mgt. Contl.)R & B

2017
Time : As in Programme
Full Marks - 70
The figures in the right-hand margin indicate marks
Answer from aly the Sections as directed.
Section - A

Answer any threg questions within word limit of
700-1000 : 12x3 = 36

1. The following cost information of M/s ABC is
available :

Fixed Expenses Rs. 90,000
Variable cost Per unit :
* Direct Materia Rs. 5
* Directlabour Rs. 2
* Direct Overhead 100% of direct labour
Selling price per unit Rs. 12

QF - 38/3 (Tum over)
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Section-C

ﬁnmferanymuqmsﬁunswiﬂ'ﬁnwﬂrd limit of 300 :
5x2 =10

11. What are the main differences between
Absorption costing and Marginal costing ?
Discuss.

12. Discuss the accounting treatment of spoilage and
defectives in cost accounting.

13. Discuss various steps involved in responsibility

accounting.

14. Discuss the advantages and limitations of
Budgetary Control System.

—

QF —38/3 (100) (4) DDCE-IS-CBCS —
M. Com (Cost. &
Mgt. Contl)R&B



DDCE-IlIS-CBCS —
M.Com (Gr.C-C, B)
R&B

2017
Time : As in Programme

Answer from all the Seclions as directed.

~ Section -4

Answer any three questions within word limit of
T00-1000 each - 12x3 = 36

1. How is study of consumer behaviour
related to successful marketing of an
organisation ? What are the objectives and
nature of this ?

2. Examine the “Tricomponent Attitude Model” and
discuss the importance of this. Discuss the
significance of its three major components,

QF - 54/4 ( Tum over)
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DDCE-IS-CBCS —
M. Com (Devimnt.
Admn)REB

2017
Time : As in Programme
Full Marks : 70
The hgures in the right-hand margin indicate marks.
Answer from all the Sections as directed.
Section-A

Answer any three questions within word limit of
700-1000 each : 12x3 =36

1. “Development Administration refers to those
activities of Government that promote economic
growtn, strengthen human and organizational
capacites, enhance quality in the distribution of
opportunities and income” (Milton Esman).

2. Explain Millennium Development Goals (MDGs)
and Sustainable Development Goals (SDGs).

QF - 48/4 { Tum over }
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DDCE-IIS-CBCS —

M. Com (Dist. Mgt.)
R&B
2017
Time : As in Programme
Full Marks : 70

The figures in the right-hand margin indicate marks.
Answer from all the Sectlions as directed.

Section—A
Answer any three questions within word Emit
of 700-1000 each : 12=3 = 36

1. What is Disaster ? Discuss it various types.

2. Examjne different causes of Air Pollution.
Suggest remedies.

3. Discuss the role of National Disaster
Manageament Authority (NDMA).

4. Critically examine the ‘Disaster Medicing’.

5. Examine the causes of Road Accidents. How it
can be prevented 7

QF =514 (Tum over)



10.

1.
12,
13,
14,

of 500 each - 8x3=24

E!ammmacaumwﬂﬁmnfundsﬁﬁe.
Gheauﬂablemmmhs.

mﬂthﬂefmuﬂmion?Hnwi’tmnheﬂmdmd?

Examine the concept of ‘Rehabilitation’

%athindustﬁanommm?Dhcussitseﬁecta
on people at plant sites,

Section-¢C

Answer any two questions within word limit
of 300 : ax2 =1p

Whatis Cold Wave ?
Eﬂsnm&umumi--ﬁnﬂdm
Eﬂminnﬂumhnfﬂﬁﬂé:hﬁﬂﬂém.
Vﬂmtisﬂiaamﬂgmmry?

*

QF - 51/4 (500) (2) DDCE-ms-cBCs —

M. Com (Dist. Mgt.)
R&B



DDCE-llIS-CBCS —
M. Com (Gr. B = Fin.
Mkt. & Inst.) R & B

2017

Time : As in Programme
Full Marks : 70
The figures in the nghi-hand margin indicate marks.
Answer from all the Sections as directed.

Section -A

Answer any three questions within word limit of
700-1000 each : 12x3 = 36

1. "Despite about seventy years of India's
independence, Indian Financial System is not
developed.” Critically examine.

2. Qutline various stock market reforms in India.
State if these reforms have been counter-
productive.

3. Compare and contrast between the commercial
Banks and Development Banks. State various
changing functions of commercial banks in
India.

QF —42/4 { Turn over)
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13. Why is RBIl known as the}fendar of last resort 7
Name any two instruments used by RBI to control
liquidity in the market.

14. Distinguish between CRR and SLR. State jts
objectives.

-

QF —42/4 (200) (4) DDCE-lIs-CBCS —
M. Com (Gr. B = Fin.
Mkt. & Inst) R & B



DDCE -1ll-S -CBCS - M. Com, -
.-D-HRP&D)-R&B

2017
Full Marks - 70
Time - As in the Programme

The figure in the right hand margine indicate marks.
Answer questions from all Section as directed therein.

Section—-A
Answer any THREE : [12x3=36

1. "Failure in planning and developing HR could
be a limiting factor in attaining organisational
goal." Explain the statement in reference to the
objective, importance and types of HR planning.

2. "Designing human resource development
interventions involves a process”. Discuss the
human resnumé development interventions in
the HRD process.

[ Cont...
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DDCE-IIS-CBCS —
M. Com (Ind. Socty.)
R&B

2017

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.
Answer from all the Sections as direcied.
Section—-A

Answer any three questions within word limit of
700-1000 each : 12x3 =36

1. Define society. Discuss its characteristics.
2 Define culture. Mention its elements.

3, Bring out the major changes taking place in the
insfitution of marriage in India.

4. Describe the impact of westernization on Indian
society.

5. Throwsome light onthe Indological approach to
the study of Indian society.

QF — 50/4 ( Turn over )



Section-B

Answer any three questions within word [limit

of 500 each - 8x3 =24
6. Elaborate the characteristics of culture,
7. Discuss the role of the informal agencies of social
controlin India.
8. Discuss the consequences of urbanization on
Indian society.
9. Explain the various resistances to change.
10. Give an account of the Ecological problems
confronting Indian society today.
Section - C
Answer any two guestions within word limit
of 300 each : Sx2=10
11. Association
12. Kinship as an agent of social control
13. Factors promoting westernization
14. Causes of corruption
#
QF — 50/4 (300) (2) DDCE-IlIS-CBCS —

M. Com (Ind. Socty.)
R&B



M. Com (Int. Bus.)
RE&B
2017
Time : As in Prograimime
Full Marks : 70

What is foreign exchange 2 What is its need ?

markets and its inherent risks.

. Enumerate the role played by multinational
enterprises {lﬂlEb}h'uﬁigﬂhW i

OF —52/4 ( Tusri aver )
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DDCE-IIIS-CBCS —
M. Com (Int. Trade)
R&B

2017
Time : As in Programme
Full Marks : 70
The figures in the night-hand margin indicate marks.
Answer from all the Sections as directed.
Section—-A

Answer any three Questions within word limit of
700-1000 : 12x3 =38

1. Defire Intemational Trade, Discuss Comparative
Cost Theory of International Trade.

2. Discuss the merits and demerits of Flexible
Exhange Rate System.

3. Discuss purchasing power parity theory of
exchange rate determination along with its
limitations,

QF - 37/4 ( Tum over)
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DDCE-lIS-CBCS —
M. Com (Gr. B - MB
&FS)R&B

2017

Time : As in Programme
Full Marks ; 70
The figures in the right-hand margin indicate marks.
Answer from all the Sections as directed.
Section-A

Answer any three questions within word limit of
700-1000 each : 12%3 = 36

1. Describe the importance of financial services for
the economic development of India and state the
features of the financial services.

2. What s the importance of “Leasing" and what are
the different types of lease ? Outline the benefits
and limitations of each.

3. Give a clear picture of the growth and
development of UTI in India. State its relevance
in industrial financing.

QF - 44/4 ( Tum over )
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DDQE-III-E-EE&-M.gnm.-
iﬁr,-D-MTﬂm-REE

2017

Full Marks -70
Time - As in the Programme

The guestions are of equal value.

Answer questions from all Section as directed therein.

Section -A
Answer any THREE: [12x3=36

"Training as a sequence of experiences or
opportunities designed to modify behaviour in
order to attain a stated objective”. In the light of
the given statement discuss the importance,
scope and benefits of training.

As a HRD manager. What would you do 1o
identify the training needs of the employees ?
What are the different types of tra‘mings you
can suggest.

[ Cont...
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DDGE-IIS-CBCS —
M. Com (P & OM)
R&B

2017

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.
Answer from all the Sections as directed.
Answer any three questions within word limit of
700-1000 each : 12=3 =36
Section - A
1. Discuss the various decisions made by a
Production Manager under the categories of

strategic, operational and control in the
production function of an organization.

o Whatls location break even analysis? lllustrate,
with an example, how this approach is used in
choosing the best location over arange of volume
of production as well for a particular volume of
production per annum.

QF — 4713 ( Turn over )
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DDCE-ilIS-CBCS —
M. Com (Ruraj Dev.)
R&B

2017

Time : As jn Programme
Full Marks : 70
The figures in the night-hand margin indicate marks.
Answer from aly the Sections as directed.

Section - A

Answer any three questions within word limit of
700-1000 each - 12x3 = 36

1. ‘Growth of Agriculture js necessary for ryra|
development’ — Explain,

2. Whatis PURA ? Discuss its need and benefits.

3. Examine the role of rura| Co-operatives in ryra|
development.

4. Discuss the impact of ~MG‘NREGS OR rural
development. e

QF - 43/4 (Tum over)
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DDCE-IIIS-CBCS —
M. Com (Gr. B~ SA
&FM)R&B

2017
Time : As in Programme
Full Marks : 70
mmmhawmmmmrEmm
An;werﬁnm ail the Sections as directed.
Section—A

Answer any three questions within word limit of
700-1000 each 12x3 =136

2. Describe various forms of efficient market
hypothesis. Explain their features.

3. What do you mean by bond valuation 7 How lo
value convertibles and warrents ?

; QF - 40/4 ( Tum over )
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The figuras in the right-hand margin indicate marks.
Answer from all the Sections as directed.
Saction — A

Answer any three questions within word limit of
700-1000 : 12x3 =36

importance of each.

2 |ntroduce different types of sales arganisations
and discuss the importance and limitations of
each.

3. What is the importance of “Recruitment” and
sgelection” ? Outline the different steps adopted
for the recruitment and selection of sales force.

QF = 39/4 ( Turn over)
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